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Reflect triangle Ainthe liney = 3
Label your triangle B

8

T

614

5 \“ -

4

3 - -
2

1 A
b——— —1—





image8.png
List the integer values of n
which satisfy the inequality
2=sn<7
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QUESTION 1 QUESTION 2 QUESTION 3
1 kg =221lb Work out Make x the subject of the
formula
Complete a) 5+-9= ¥y =ax
25kg="7Ib
b) 3x7=
331lbs=7?kg
QUESTION 4 QUESTION 5 QUESTION 6

List the integer values of n
which satisfy the inequality
-1<n<4

Calculate the area of the
triangle

5cm

Reflect triangle A in the line x = 4

Label your triangle B
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Work out

10% of £440
35% of £440

Lo x3 =132
=2 = 22 4
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Work out

1.5x04= | V- 00
S, 3 x4 =60

2dp = 0.60
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Simplity the ratio

4 days : 2 weeks
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Alex buys a new car. He pays
a £1500 deposit followed by

36 monthly payments of £180.
What is the total paid?
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Plot a frequency polygon
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Two four sided dice are rolled
and the scores are added
Complete the sample space
diagram
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What is the probablhty of
scoring a total of 5? /p\f /
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QUESTION 1 QUESTION 2 QUESTION 3
Work out Work out Simplify the ratio
10% of £1240 250 m:2km
09x09=
1.5+5= 15% of £1240
QUESTION 4 QUESTION 5 QUESTION 6
Jaden buys a new TV. He pays | Plota frequency polygon Two four sided dice are rolled
a £250 deposit followed by 24 o<h |<h la<h |6<h and the difference between the 2
monthly payments of £25. Height| 1", <¢| <8 || scoresrecorded.
What is the total paid? frea 5 " 7 Complete the sample space
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What is the probability of
scoring a difference of 1?
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Divide t135Intheratio4: 5
o\s u+3=q
C\U?:L\S
V=413
ISxy -0
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If x =4 work out the value ot

5x SXxL4 =20

2x+ 2

A2xur+o =10
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Calculate the mean shoe size
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If 30 students chose History,
how many students chose Art?
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Calculate the area of the
trapezium

6cm{0
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QUESTION 1

QUESTION 2

QUESTION 3

Divide £192in theratio5:3

Simplify

4x +y+3x+5y

Ifx=5 andy=2 workout
the value of

2x+y
5x+2y—3x-y
5x — 6y
QUESTION 4 QUESTION 5 QUESTION 6
Calculate the area of the If 15 students chose Maths, Calculate the mean age
trapezium how many students chose Art? A
ge
4cm (vears) Frequency
8 2
Geography 9 5
6 cm 10 7
11 5
g cm 12 1
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Express 0.28 as a fraction
(simplest form)

28 U 3

00 SO ~ 25

The ratio of red to blue
countersina bagis 3 :5.
What fraction of the counters

are red? A5
3}.
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James scored 18 outor 25 ina
test. What is this as a
percentage?
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Work out
445%x2-2

Lei0-2 = |0

Fill in the missing operations

21(20 = 2)= 12
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Use a calculator to work out

=20

25x024 _
0.3 D
0.3

37% of £120
0-3% %120 = tu.i}
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The nth term of a sequence is
3n+2

Work out the first 3 terms of
the sequence

Dol 3%V +2 = 9D
=2 3x242 =K
ﬂ:g 3)((7)*2 = l

What is the value of the 20t
term?

N=20 A%x20+2:=672
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a) £10=¢€ |4

b) €42 = £ YW )
€21 = 4+ |9
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QUESTION 1 QUESTION 2 QUESTION 3
Khalil scored 17 outof 20ina | Express 65% as a fraction Work out
test. What is this as a (simplest form) 10x2+5x4
percentage?
The ratio of red to green
countersina bagis2:3. Fill in the missing operations
What fraction of the counters | (and brackets)
are red?
6 4 5 =50
QUESTION 4 QUESTION 5 QUESTION 6
Use a calculator to work out 30 The nth term of a sequence is
A 5n-2
25
25-19 %20 Work out the first 4 terms of
05-03 315 the sequence
10
53
>
246 8101214161820
6.6% of £450 . Pounds £ What is the value of the 30™
a) $15=£ term?

b) £56=$
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Work out

§of £84
AU ZF=- 12
LY L = :t')_L]_

%of beads in a pot are red and

the rest are blue. If there are
16 red beads, what is the total
number of beads in the pot?

=16 = Y clow -6y
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324 x 45 = 14580

Work out )
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Which is the best buy?
Pack of 8 apples for £1.65 \/

Pack of 6 apples for £1.25
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‘What is the gradient of the line?





image35.png
List the factors of 36 and 90
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Solve

a)x+6=11l
-6 -6
XL=5
b) 3x =15
303
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Sheet 2A Sheet 2B

Conversions eg 5 miles = 8 km Q1 Multiplying and dividing decimals Y]
[Working with directed numbers Q2 Percentage of a quantity Q2
Rearranging formulae a3 [Simplifying ratios Q3
Listing numbers - inequalities ~Y] Hire purchase problems Y]
[Area of a triangle/parallelgoram a5 Plotting a frequency polygon Qs
Reflecting in a straigh line Q6 [Sample spaces Q6
Sheet 2C Sheet 2D

Dividing in a given ratio Q1 Expressing as a percentage Q1
Collecting like terms. Q2 Equivalence Q2
Simple substitution Q3 Order of operations Q3
Calculating the area of a trapezium Q4 Using a calculator Q4
Using a pie chart a5 [Conversion graphs a5
Mean from a frequency table Q6 Using the nth term of a sequence Q6
Sheet 2E

Using Given calculations Q1

Calculating a fraction of a quantity Q2

Working out the best buy Q3

[Types of numbers ~Y]

Solving simple equations a5

Identifying the gradient of the line (6
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QUESTION 1 QUESTION 2 QUESTION 3
32%x29 =928 Work out Which is the best buy?
Work out 400g of flour £1.05
32x29= 2 of £144
8 500g of flour £1.30
31x29= Eof beads in a pot are red and
the rest are blue. If there are
18 red beads, how many blue
beads are there?
QUESTION 4 QUESTION 5 QUESTION 6
List the factors of 54 Solve What is the gradient of the
ayx—4=3 line?
y
174
lsd
x !
What is lowest common b) 3= 4 3

multiple of 12 and 54?
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£1 =$1.35
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Work out

a)
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Make x the subject of the
formula
y=x+a




image5.png
QUESTION 1
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Calculating the area
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